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<<ƒ^j‰÷]Vê{{{ÓÚ<ífjÂ< < òîjÈ“Ûa@òî�a‹Ôß‡Ûa@òí‹öa�§a@òíŠìèà§a@ @
î×Ê‚Ö]<°Â<íè÷çÖ<íée�Ö]<íè†è‚Ú< <

<Ùç×q<êÞ^Ûé×‰<íèçÞ^m–<<íj�^iI<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<íé‰]…‚Ö]<íßŠÖ]<V2012K2013< <
<ïçjŠ¹]<V^m<íß‰éÞ<í<E<2<l<Å1<D<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<ì‚{{{¹]<V2<{{{{Â^{{{‰í< <

< <
< <

<Ùæù]<àè†ÛjÖ]<Ùæù]<àè†ÛjÖ]<Ùæù]<àè†ÛjÖ]<Ùæù]<àè†ÛjÖ]VVVVE07.5<íŞÏÞD 

<<<<<<<<<<äj×jÒ<êŞÏÞ<ÜŠq50m g=<<äÖç�<½^ŞjÚý]<Üè‚Â<æ<í×jÓÖ]<ØÛãÚ<¼éā<Ð×ÃÚ40L cm=<J< <
<íèæ]ˆe<äÞ‡]çi<Ä•æ<àÂ<ÜŠ¢]<xèˆÞ60α = °<<Ä•çÖ]<‚ßÂA<<Ä•çÖ^e<†ÛéÖ<íéñ]‚jec<íÂ†‰<áæ‚e<äÒ�Þ<ÜmB<<<<<<<<<<<<<<<

<íèæ]‡<Äß’è<oéu30β = °<<ÙçÎ^�Ö]<ÄÚ<E<ØÓ�Ö]<†¿Þ_JD 10 /g N kg=< <
1<I <Ä•çÖ]<»<ÜŠ¢]<î×Â<íÏfŞ¹]<ïçÏÖ]<ØnÚA<<E<í×ÛãÚ<l^Ò^Ójuý]J<D 

2<I <_I<<°e<ÜŠr×Ö<íèçÎ^ŞÖ]<í×é’£]<ØnÚA<<æB<<íÎ^ŞÖ]<¾^Ë©c<íÖ�^ÃÚ<gjÒ_<ÜmJ 

hI<<°Ã•çÖ]<‚ßÂ<ÜŠ¢]<íÂ†‰<gŠu_B<<æC<J< <
3<I <ÜŠ¢]<…æ†Ú<‚ßÂe<Ä•çÖ^C<<íéÏÊ_<íÒ†[<ÜŠ¢]<Ø‘]çéÊ<¼é¤]<ÄŞÏßèJ 

<˜e^ßÖ]<íÞæ†Ú<ke^m<á_<^Û×Â<˜e^ß×Ö<½^Ç–Þc<î’Î_<gŠu_100 /K N m= 

nÖ]<àè†ÛjÖ]nÖ]<àè†ÛjÖ]nÖ]<àè†ÛjÖ]nÖ]<àè†ÛjÖ]êÞ^êÞ^êÞ^êÞ^<<<<VVVV<E06<íŞÏÞD 

<<<íÒ†�]<ìçÏÖ]<ØÛÂ<êÞ^ée<áønµ<áøÓ�Ö]F
��

<<íÊ^Š¹]<íÖ÷‚e<ì…^é‰<î×Â<íÏfŞ¹]d<íÂ†ŠÖ]<Äe†Ú<íÖ÷‚e<æ2V<H
<êÏÊ_<æ<ÜéÏjŠÚ<Ðè†�<î×Â<EF

��

<<í×ÛãÚ<l^Ò^Ójuý]<æ<Ðè†Ş×Ö<íè‡]çÚJ<D< <
1<I _<KgjÒ_<<ØÛÂ<ì…^fÂF

��

íÊ^Š¹]<íÖ÷‚edJ 

h<K<ìçÏÖ]<ØÛÂ<°e<íÎøÃÖ]<‚qæ_F
��

<íÂ†ŠÖ]<Äe†Ú<æ2V<<E<íÎ^ŞÖ]<¾^Ë©c<_‚fÚ<Ù^ÛÃj‰^eJ<D< <
2<I ^éÞ^ée<<sjßj‰cV 

< <
_<K<ìçÏÖ]<ì‚�F

��

<< <
< <

h<K<ì…^éŠÖ]<í×jÒm<J 

< <
< <
< <
< <
< <
< <
< <

<<<<nÖ]<àè†ÛjÖ]nÖ]<àè†ÛjÖ]nÖ]<àè†ÛjÖ]nÖ]<àè†ÛjÖ]oÖ^oÖ^oÖ^oÖ^<<<<VVVV<E06.5<íŞÏÞD 

<<<<<<<<<ëæ^Šè<ke^m<äÛru<ð^Âæ3L<<î×Â<ëçj¬<H174g<Ý^·<»<ð^ÂçÖ]<Ä–Þ<H<^éÖ^nÚ<]‡^Æ<å�jÃÞ<ë„Ö]<æ<ð]ç�]<àÚ<<êñ^Ú
<äi…]†u<íq…�1 20θ = °<J< <

1<I <ð^ÂçÖ]<Ø}]�<‡^ÇÖ]<¼Ç•<gŠu_1P<J 

2<I Šu_<î×Â<‡^ÇÖ]<^ãÏfŞè<�Ö]<íŞÆ^–Ö]<ìçÏÖ]<ì‚�<g21cm<<ð^ÂçÖ]<…]‚q<àÚJ 

3<I <ä×}]�<¼Ç–Ö]<�’è<îju<ð^ÂçÖ]<^é«…‚i<à~ŠÞ2 5000 .P k pa=<J 

<_I  ^Ú<<ð]ç�]<ì…]†u<íq…�<êâ2θ[<ð^ÂçÖ]<Ø}]� 

<hI  ^Ú<<í‰^Ï¹]<ð]ç�]<íéÛÒ<êâ<<{eg<<äjÛéÎ<±c<ð^ÂçÖ]<Ø}]�<¼Ç–Ö]<�çÃè<îju<ð^ÂçÖ]<àÚ<^ãfv‰<gq]çÖ]<æ
<íéñ]‚jeý]<<[ 

8.31( )R SI=<<<ð]çã×Ö<íéÖç¹]<í×jÓÖ]<H29 /M g mol=<J 
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<íée�Ö]<íè†è‚Úî×Ê‚Ö]<°Â<íè÷çÖ< <

<Ùç×q<êÞ^Ûé×‰<íèçÞ^m–<<íj�^iI<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<íé‰]…‚Ö]<íßŠÖ]<V2012K2013< <
<ïçjŠ¹]<V<íéÞ^m<íß‰<<E2<l<Å1<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<D<<<<< <

< <
< <

<Ùæù]<àè†ÛjÖ]<Ùæù]<àè†ÛjÖ]<Ùæù]<àè†ÛjÖ]<Ùæù]<àè†ÛjÖ]VVVVE07.5<íŞÏÞD 

1<I <Ä•çÖ]<»<ïçÏÖ]<Øén³A<J 

2<I _I<<<°e<ÜŠr×Ö<íèçÎ^ŞÖ]<í×é’£]A<<æB<J 

<íÎ^ŞÖ]<¾^Ë©c<íÖ�^ÃÚV< <
( )CA CBE W P E+ =
��

< <
( ) CBW P E=
��

< <
h<I  <Ä•çÖ]<‚ßÂ<ÜŠ¢]<íÂ†‰<h^ŠuB<J 

<<<<<<<<<                  <<<<<Ðe^ŠÖ]<Ù]öŠÖ]<àÚ<^ßè‚Ö<<<V( )B CBW P E=
��

< <

<<<<<<<<<<                     <<2B AV gh=<<<<<äßÚ<æ21

2
A Bmgh mV=< <

<<<<<<<<<<                     <<<<oéu<<<<<V1 cosh L α=<<äßÚæ1cos
h

L
α =<&< <

<<<<<<<<<<<                             <<<<2 cosh L β=<<<<äßÚ<æ2cos
h

L
β =<<&< <

<<<<<<<<<      Ú<æ<äß<<V2 1 cos cos (cos cos )Ah h h L L Lβ α β α= − = − = −<&< <
<<<<<<<<<<<<<äé×Âæ<<<<<<<<<<<<<V2 (cos cos ) 2 10 0,4 (0,866 0,5) 1,71 /BV gl m sβ α= − = × × × − =<< <
<<<<<<<<<<<<<Ä•ç¹]<»<ÜŠ¢]<íÂ†‰<B<êâ<V1,71 /BV m s=<< <

<<<<<<<<<<<<<<<<<<<<<Ä•ç¹]<‚ßÂ<ÜŠ¢]<íÂ†‰<h^ŠuC<J< <
<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<^ßè‚Ö<íÏè†ŞÖ]<‹Ëße<<<<<V( )C CCW P E=

��

<<<<<<< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<2CV gh=<<<<<äßÚ<æ21

2
Cmgh mV=<< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<oéu<<<<<V1 cosh L α=<<äßÚæ1cos
h

L
α =<&< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<äßÚ<æ<V1 cos (1 cos )h L h L L Lα α= − = − = −<<&< <
<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<äé×Â<æ<<V2 (1 cos ) 2 10 0,4 (1 0,5) 4 2 /CV gL m sα= − = × × × − = =<< <

<<<<<<<<<<<<<Ä•ç¹]<»<ÜŠ¢]<íÂ†‰<C<êâ<V2 /CV m s=<< <

3<I <î’Î_<h^Šu½^Ç–Þc<<˜e^ß×ÖV 

<í×Ûr×Ö<íèçÎ^ŞÖ]<í×é’£]<E<ÜŠq<G<˜e^Þ<D<°eC<<æD<<êâ< <
<íÎ^ŞÖ]<¾^Ë©c<íÖ�^ÃÚ<VCC PeC CD PeDE E E E+ = +<<< <

<<<<<<<<<<<<<<2 21 1

2 2
CmV KX=<<<<äßÚ<æCC PeDE E= 

äßÚ<æ< <

     <<<<<
2 350 10 4

0,0447
100

CmV
X m

K

−× ×
= = =<< 

<ç{{{â<˜e^ß×Ö<½^Ç–Þc<î’Î_<]ƒc<V4,47X cm=<< <
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< << << << <
nÖ]<àè†ÛjÖ]nÖ]<àè†ÛjÖ]nÖ]<àè†ÛjÖ]nÖ]<àè†ÛjÖ]êÞ^êÞ^êÞ^êÞ^<<<<VVVV<E06<íŞÏÞD 

1<I _I<<<<ìçÏÖ]<ØÛÂ<ì…^fÂF
��

<<íÊ^Š¹]<íÖ÷‚ed<J 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<( ) . .cosW F F d α=
��

<< <

<<<oéu0α = °<<<ë_cos 1α =äßÚ<æ<<<<<<<<<<<<<<<<V( ) .W F F d=
��

< <

<<<<<<<<<<<<<<<hI<<<°e<íÎøÃÖ]F
��

<íÂ†ŠÖ]<Äe†Ú<æ2V<<<<<<<<<<<<<<<<<<<<<<<<J< <
� <í×Ûr×Ö<íèçÎ^ŞÖ]<í×é’£]<E<ì…^é‰D 

� <íÎ^ŞÖ]<¾^Ë©c<íÖ�^ÃÚV 

2

2

1
( )

2
CW F E mV= =

��

<<<äßÚ<æ<<<<V1 2( )C CE W F E+ =
��

< <

<]ƒc<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<V21
( )

2
W F mV=
��

<<<<<<<< <

2<I <á^éfÖ]<àÚ<sjßj‰cV 

_<I  <ìçÏÖ]<ì‚�F
��

V< <
<ìçÏÖ]<ØÛÂ<á^ée<àÚ<^ßè‚ÖF
��

<íÊ^Š¹]<íÖ÷‚edV< <
<ØÓ�Ö]<àÚ<äjÖ�^ÃÚ<_‚f¹]<àÚ<†µ<ÜéÏjŠÚ<¼}<àÂ<ì…^fÂ<êÞ^éfÖ]<îßvß¹]<<<<<<V( ) .W F y d=

��

<< <

<oéuy<<äßÚ<æ<<á^éfÖ]<äéqçi<ØÚ^ÃÚ<<<<V
3( ) (1 0) 10

100( / ) 100( )
10 0

W F
y J m N

d

∆ − ×
= = = =

∆ −

��

< <

<<ìçÏÖ]<ğ̂ éñ^èˆéÊ<äéqçjÖ]<ØÚ^ÃÚ<Ønµ<íÖ^£]<å„â<»<æF
��

J< <
<äßÚ<æ<V100F N=< <

h<I  <ì…^éŠÖ]<í×jÒm<V 

<ìçÏÖ]<ØÛÂ<á^ée<àÚ<^ßè‚ÖF
��

<íÂ†ŠÖ]<Äe†Ú<íÖ÷‚e2VV< <
<ØÓ�Ö]<àÚ<äjÖ�^ÃÚ<_‚f¹]<àÚ<†µ<ÜéÏjŠÚ<¼}<àÂ<ì…^fÂ<êÞ^éfÖ]<îßvß¹]<<<<<<V2( ) .W F KV=

��

<< <

<oéuK<<äßÚ<æ<<á^éfÖ]<äéqçi<ØÚ^ÃÚ<<<<V
3

2 2

2

( ) (1 0) 10
200( . / )

5 0

W F
K J s m

V

∆ − ×
= = =

∆ −

��

< <

äéqçjÖ]<ØÚ^ÃÚ<Ønµ<íÖ^£]<å„â<»<æ<<<íéÖ^jÖ]<ì…^fÃÖ]<<V1

2
K m=< <

<<<<<<<<äßÚ<æ<V2 2 200 400( )m K kg= × = × =< <
<äßÚ<æ<<êâ<ì…^éŠÖ]<í×jÒ<<<<<<V400( )m kg=<< <

< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <

EC2 

EC1 

W(F) 

<E<ì…^é‰D< <
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01 

01 
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0,5 



<< <
<<<nÖ]<àè†ÛjÖ]nÖ]<àè†ÛjÖ]nÖ]<àè†ÛjÖ]nÖ]<àè†ÛjÖ]oÖ^oÖ^oÖ^oÖ^<<<<VVVV<E06.5<íŞÏÞD 

 

<^ßè‚Ö<<V174m g=<<H3 33 3 10V L m−= = ×<<<H1 120 293c T kθ = ° → = °<< <
1<I <ð^ÂçÖ]<Ø}]�<‡^ÇÖ]<¼Ç•<h^Šu1P<V 

<^ßè‚ÖV<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<1 1. . .PV n R T=<<<< <

<<1
1 3

. . 174 8,31 293
4869,66

. 29 3 10

m RT
P kpa

M V −

× ×
= = =

× ×
<<<<<<<<<<<äßÚ<æ1 1. . .

m
PV R T

M
=<<<<<<<<< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<çâ<ð^ÂçÖ]<Ø}]�<‡^ÇÖ]<¼Ç•<V1 4869,66P kpa=< <
2<I <î×Â<íŞÆ^–Ö]<ìçÏÖ]<ì‚�<h^Šu21 cm<<ð^ÂçÖ]<…]‚q<àÚJ 

Ö<^ßè‚<<<<<<V<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<1

F
P

S
=<<<<< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<äßÚ<æ<<<<<V2 2

1. 1 (10 ) 4869660 486,966F S P N−= = × × =<<< <
<<<<<<<<<<<<<<<<î×Â<íÏfŞ¹]<ìçÏÖ]21 cm<<êâ<ð^ÂçÖ]<…]‚q<àÚ<<<V486,966F N=< <

3<I <ä×}]�<¼Ç–Ö]<�’è<îju<ð^ÂçÖ]<^é«…‚i<à~ŠÞ2 5000 .P k pa=J 

_<I  <h^Šu2θ<V 

<^ßè‚Ö<<<<V<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<1 1. . .PV n R T=<<<<<<<<<<<<<< <

<äßÚ<æE<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<V1<D1

1

.
........

P n R

T V
=<<<<< <

<^ßè‚Ö<æ<<<<<<V<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<2 2. . .P V n R T=<<<<<<<<<<<<<< <

<<<<<<<<<<<<<<<<<<<<<<<<<äßÚ<æE<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<V2<D2

2

.
........

P n R

T V
=<<<<< <

<<<<<<<<<<<<<<<<<<<<<<<<<<àÚ<æE1<D<æE2<D<‚¨<<V<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<1 2

1 2

.P P n R
cte

T T V
= = =<< <

<<<<<<<<<<<<<<<<<<<<<<<<<<äßÚ<æ<V<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<2 1
2

1

. 5000000 293
300,84

4869660

P T
T k

P

×
= = = °<< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<äé×Â<æ<V2 2 273 300,84 273 27,84T cθ = − = − = °<< <
<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<êâ<íÖ^£]<å„â<»<ð^ÂçÖ]<ì…]†u<íq…�<]ƒc<<V2 27,84 cθ = °< <

h<I  {e<^ãfv‰<gq]çÖ]<ð]ç�]<íéÛÒ<h^Šug<J 

<^ßè‚ÖV<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<1 2. . .PV n R T=<< <

<äßÚ<æ<V<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<1 2

'
. . .

m
PV R T

M
=< <

<äßÚ<æ<<<<<<<<<<<<<<<<<<<<<<<V
3

1

2

. . 4869660 3 10 29
' 169,46

. 8,31 300,84

PV M
m g

R T

−
× × ×

= = =
×

< <

ğ]ƒc<<Ùæù]<¼Ç–Ö]<î×Â<Ø’©<îju1P<<ì…]†£]<íq…�<»2θ<ì�^¹]<íéÛÒ<áçÓi<á_<g«' 169,46m g=< <
<<<<<<<<<¼Ç–Ö]<î×Â<Ùç’£]<Øq_<àÚ<^ãfv‰<gq]çÖ]<í×jÓÖ]<äé×Â<æ1P<<êâV'' ' 174 169,46 4,54m m m g= − = − =<< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<" 4,54m g=< <
0,5 

0,5 

0,5 

0,5 

0,5 

01 

01,5 

01,5 


